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QUESTION 1

An administrator is trying to add a new virtual disk of 3TB to a virtual machine on a recently upgraded ESXi 

6.x host, but receives this error: 

The disk capacity entered was not a properly formed number or was out of range. It has been replaced with the nearest
acceptable value. 

How can the new virtual disk be added to the virtual machine? 

A. Upgrade the VMFS datastore. 

B. Change the VMFS datastore block size to 8MB. 

C. Move the virtual machine to a datastore with free space. 

D. Use vmkfstools to upgrade to VMFS6. 

Correct Answer: B 

 

QUESTION 2

In a vSphere 6.5 cluster of 6 nodes, memory usage is very high on host1 and host2, and network bandwidth usage is
very high on host3 and host4. The administrator needs to place host1 into maintenance mode. 

How will DRS relocate virtual machines? 

A. DRS will avoid placing virtual machines on hosts that are considered network saturated. 

B. If DRS "VM Distribution" has been applied, virtual machines will be evenly distributed across the remaining hosts.
Host resource usage is not considered. 

C. If "Memory metric for load balancing" has been disabled, virtual machines will be moved solely based on network
utilization. Memory usage is not considered. 

D. Virtual machines will be moved only if host affinity rules have been configured. 

Correct Answer: A 

Reference: https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/techpaper/drsvsphere65-perf.pdf
page 6 

 

QUESTION 3

An administrator wants to upgrade ESXi 5.5 hosts to ESXi 6.5 using Update Manager. When performing a scan for
baseline compliance, the host\\'s status is marked Compliant. 

Which has happened? 

A. Host must be version 6.0 in order to upgrade to 6.5. 
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B. Host has some third-party software installed. 

C. Host has no upgrade baseline attached. 

D. Host hardware is not supported for upgrade. 

Correct Answer: C 

http://vmiss.net/2016/12/20/upgrading-esxi-using-vsphere-update-manager-6-5-on-the- vcenter-serverappliance/ 

 

 

QUESTION 4

A new virtual machine cannot reach its default gateway. 

- The vSphere administrator checks that the virtual machine\\'s vmnic is connected to the correct portgroup, and that the
portgroup is on the correct virtual switch 

-This is the only virtual machine on this portgroup 

- Other virtual machines that are on the host and connected to the same Distributed switch are running as normal 

-The Distributed Switch has only one uplink 

Which could be the cause of this issue? 

A. Block All Ports has been selected on the Distributed Switch. 

B. The wrong VLAN ID has been added to the portgroup. 

C. The VLAN has not been configured in virtual machine hardware settings. 

D. The physical adapter is down. 

Correct Answer: B 

The default gateway is an entry point and an exit point in a virtual machine sub-net, VLAN, or network. 

In general, a gateway is a routing device that knows how to pass traffic between different subnets and 

networks. 

Layer 2 and layer 3 switches with VLAN configuration allow IP assignment to each VLAN that will be used 

as default gateway as for that particular VLAN. A router contains routes for other subnets. Therefore, the 

problem occurs when wrong VLAN ID is added to the portgroup. 

 

QUESTION 5

When checking the distribution of virtual machines within a Fully Automated DRS cluster, an administrator notices an
uneven spread across the hosts. 
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Which advanced option within DRS would attempt to evenly balance VMs across the hosts? 

A. Disable DPM. 

B. Set DRS Migration Threshold to Aggressive. 

C. Enable VM Distribution. 

D. Migrate virtual machines to a Distributed Switch. 

Correct Answer: C 
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